SQUID Controller Board #113
Quality Control

DAC offset vs Ppjys

‘/outputN uller VS Frequency

VoutputNuiler V8 Feedback

Voutput Nutier Vs Crosstalk Measurements

V;utputCa'rrier VS Frequency

Heater Voltage Set vs Heater Voltage Read



DACoffset (V)

DACoffset (V)

DAC Oftset as a Function of ®p;,

Channel #1
] yﬁt=0.189x +0.341
1 ® . >6.5V not
bias
os-  considered for fit
- ° 5:5.3159“0341 (iinear fit)
‘ ‘ ‘ ‘ ‘ - —‘ —y:0.187‘x+0.341 (e):pecled s\c;‘Je)
-8 -6 -4 -2 0 2 4 6 8
bias (V)
Channel #3
Lsp yﬁt=0.189x +0.102
i (Dbias>6.5V not
°st considered for fit
Tox2,=171
-0.5
Ll
e yD:al;ii189><+0.102 (linear fit)
15 = = =y=0.187x+0.102 (expected slope)| _|

L
-8

I
2 4 6 8

DACoffset (V)

DACoffset (V)

-15

Channel #2

-
T

-0.5[

yﬁt:O.lQOX +0.203

® . >6.5V not
bias

considered for fit

x2,=0.91

® Data

y=0.190x+0.203 (linear fit)

= = =y=0.187x+0.203 (expected slope)
I I I

!
2 4 6 8

(V)

Channel #4

.

-0.5[

Y =0.189x +0.270

® . >6.5V not
bias

considered for fit

® Data

y=0.189x+0.270 (linear fit)

= = =y=0.187x+0.270 (expected slope)
I I N

I
2 4 6 8

V)

L L L L
-6 -4 -2 0

bias



DACoffset (V)

DACoffset (V)

Channel #5

0.5

yfit:0'189X +0.154

® . >6.5V not
as

bi
considered for fit

X2,=119

® Data
y=0.189x+0.154 (linear fit)

= = =y=0.187x+0.154 (expected slope)
N N M-

0.5

L L L L
-6 -4 -2 0

bias

I
2 4 6 8

(V)

Channel #7

y;=0.188x ~0.085

® . >6.5V not
as

bi
considered for fit

X2, =0.99

® Data

y=0.188x-0.085 (linear fit)

= = =y=0.187x-0.085 (expected slope)
I I N

(V)

I
2 4 6 8

DACoffset (V)

DACoffset (V)

Channel #6

15F

-
T

051

y,=0.188x +0.189

)

. >6.5V not
bias

considered for fit

X 2V =1.03

® Data

y=0.188x+0.189 (linear fit)

= = =y=0.187x+0.189 (expected slope)
I I N

151

-
T

o
o

=)
T

|
o
o

-15

(V)

I
2 4 6 8

Channel #8

yﬁt=0.191X +0.214

® . >6.5V not
as

bi
considered for fit

® Data

y=0.191x+0.214 (linear fit)

= = =y=0.187x+0.214 (expected slope)
I I N

(V)

I
2 4 6 8




Nuller Through the Amplification Chain’s Viypy: as a
Function of Frequency
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Nuller Through the Feedback Loop’s Vype as a Function of
Feedback
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Crosstalk Measurements with a Nuller going through the
amplification chain
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Carrier Through the Amplification Chain’s Vi, as a
Function of Frequency
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Voutput Carrier (ADC counts)
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Heater Voltage Read as a Function of Heater Voltage Set

w & ol
@ a o @ @

w

HeaterVoltageRead (V)

o

>
> o

[
@

HeaterVoltageRead (V)

o
@

o

Channel #1

® Data
= = =Unable to create negative voltage
+m miy~x-0.5 (expected curve)
y=0.806x-0.563 (linear fit)

g
o
T

yﬁt=0.806x -0.563

HeaterVoltageRead<0.01V
not considered for fit

> 0-90-0 -0-0-0-0-0-0-0 -0/

-5 -4 -3 -2 -1

HeaterVoItageSet (V)

Channel #3

T
® Data
= = =Unable to create negative voltage
m i my~x—0.5 (expected curve)
y=0.813x-0.582 (linear fit)

w
T

n
@
T

yﬁt=0.813x —-0.582

HeaterVoltageRead<0.01V
not considered for fit

> 0~ 0 -0 -0 0-0 -0 0-0 —0- -0 .

-5 -4 -3 -2 -1

HeaterVoItageSet (V)

12

w > o
) a~ ) o o

w

=
o N

N

HeaterVoltageRead (V)

0.5

» o
~ o o o

w
o

HeaterVoltageRead (V)

o
@

5}

Channel #2

® Data
= = =Unable to create negative voltage
'm m y~x-0.5 (expected curve)
y=0.806x-0.570 (linear fit)

N
o
T

y,,=0.806x ~0.570

HeaterVoltageRead<0.01V
not considered for fit

>~ 0-0-0 -0-0-0-0--0-0-0 -0

-5 -4 -3 -2 -1

HeaterVoItageSet (V)

Channel #4

T
® Data
= = =Unable to create negative voltage
m i m y~x-0.5 (expected curve)
y=0.817x-0.542 (linear fit)

w
T

nd
)
T

yﬁt=0.817x -0.542

HeaterVoltageRead<0.01V
not considered for fit

>~ -0 -0 ~0-0~-0 -0 0-0 —0 -9 |

-5 -4 -3 -2 -1

HeaterVoItageSet (V)




[ >
@ > o

w

N

=
o

HeaterVoltageRead (V)

-

0.5

& ol
a o @ @

w
@

HeaterVoltageRead (V)

o

Channel #5

® Data
= = =Unable to create negative voltage
m i my~x—0.5 (expected curve)
y=0.809x-0.542 (linear fit)

n
@
T

yﬁt=0.809x —-0.542

HeaterVoltageRead<-0.01V

not considered for fit

_ Héate;VoItageSet V)

T
® Data
= = =Unable to create negative voltage
+m miy~x-0.5 (expected curve)
y=0.817x-0.551 (linear fit)

g
o
T

yﬁt=0.817x -0.551
| HeaterVoltageRead<-0.01V

not considered for fit

Channel #7

7 Héate}VoItageSet V)

[ » o
o ~ o o o

w

N

[
)

HeaterVoltageRead (V)

N

0.5

55

>
a~ )

w
@

HeaterVoltageRead (V)

=)

Channel #6

T
® Data
= = =Unable to create negative voltage
m i m y~x-0.5 (expected curve)

y=0.803x-0.580 (linear fit)

nd
)
T

yﬁt=0.803x —-0.580

HeaterVoltageRead<-0.01V

not considered for fit

I I S NN
HeaterVoltageSet (V)
Channel #8
- : - Bi[aable to create negative voltage

'm m y~x-0.5 (expected curve)
y=0.807x-0.551 (linear fit)

N
o
T

yﬁt=0.807x —-0.551
| HeaterVoltageRead<-0.01V

not considered for fit

-5 -4

7 Héate}VoItageSet V)




